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Atomic Number Of All Elements Is Fixed. It Is Equal To The Number Of Protons Present In It's
ATOMS .A Gene Is A Linear Sequence Of Nucleotides Along The Length Of DNA(Deoxyribose Nucleic Acid)
Subunit.

The Nucleotide Comprises Several Atoms Forming A Molecule. So If We Know The Atomic Number
Of Atoms Present In A Nucleotide, Then The Total Number Of Electrons Present In A Nucleotide Can Be
Obtained. As The Nucleotides Are Arranged Linearly In A Gene, We Can Add The Total Number Of Electrons
In Nucleotides Of A Gene To Obtain The Total Number Of Electrons In A Gene.

A Gene Is Nothing But A Linear Cylindrical Cushion Of Electrons, Somewhere Dense, Somewhere
Sparse On Whom The Polymerases Traverse During Transcription And Replication Of The Gene Concerned.

But This Is Definite That The Total Number Of Electron Forming An Electron Cloud Is Unique For A Gene.

The Above Hypothesis, Accounts For The Degeneracy Of The Genetic Code. If We Take Overriding
Physical View Of Messenger RNA Formation, The Missense And Stop Codons Can Be Explained On The
Electron Density Of The Nucleotides.

It Is Not Difficult To Accept, That The Real Genetic Code Is The Number Of Double OR Triple
Hydrogen Bonds Present Along The Length Of A Gene(Locus).
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